rad

200 V:=(100£30 °) V w:=50 —
W : 2 S
R:=50 2
c
Li=15H Xp=jeow-L=T5i 2
Ci=200 yF  Xp=— - =—100i 2

jewC

Calcolare l'impedenza totale:

Z:=R+X;+X, =100+ 75i—100i= (50 —25i) {2

|Z|= \/50° +25% = 55.902 2
b Z = 55.902/-26.565
£(Z) = atan|——|= —26.565
100
Calcolare la corrente:
100£ 1
LY = 09230 = 199 (30+26.525) = 1.789.256.565
z 55.902/—26.565 55.902

Calcolare ¢ e cos((¢):
p:=4(Z)=—-26.565 cos(p) = 0.894
Calcolare le potenze: Attiva, Reattiva e Complessa

VEFF:=|—V|:70.711 1% IEFF::ﬂ=1.265 A

2 2
P = VEFF . IEFF' COS ((p) = 80 WA-I_I-
Q::VEFF.IEFF.Sin((ID) = - 40 VAR

S:=P+j-Q =80-j40VA



X, (a,b)=j-a-b Xco(a,b)=—

jeasb

R:=50 2 L:=15H C':=200 pF
X, (w,L)="T75i 2 Xo(w,C)=-100i 2
Z=R+X(w,L)+X,(w,C)=(50—25i) 2 polar (Z)=[55.902 2 —26.565]
I::%: (0.986+1.493i) A polar (I)=[1.789 A 56.565|
p:=4(Z)=-26.565 cos (radiant (¢))=0.894
VEFF::M:7O.711 14 IEFF::ﬂ=1.265 A
2 2

P:=V gpp+Igpp- cos(radiant (¢)) =80 W [Watt]
Q:=Vgpp+Igpp-sin(radiant (p))=—40 W [VAR]

S:=P+j-Q=(80—40i) W polar(S)=[89.443 W —26.565] [VA]



